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Ramakrishna Vivekananda Mission
Annual Examination -2021
Class - VII
Subject -Computer

Time - FM-50
'Name Class Sec Roll No
1} Write True or False. - 10x1=10

2)

3)

. b)

a) To make the entry of digits as text, you have to begin the entry with an apostrophe ().
b) The numbers used in octal number systemarelto7.

c) Letters Ato Z, AA to AZ are the Row headings.

d) F4key is used to repeat most commands or actions.

e) The Hexadecimal number system has a base 16.

f) MS Excel workbook consists four worksheets,

g) F5keyisused to edit the cell contents.

h) 1 multiplied by 0 equals to 1.

i) MS Excel is the most popular package to organise, calculate and analyse data.

j) Shift key is used to select Non-Adjacent Rows /Columns.

Fill in the blanks. 10x2=20
a) Toadd column in a worksheet choose option.
b) Button on the Home tab places the contents in the centre of the cell.

¢) Inearly days when there were no means of counting people used to count with the help of

d) To turn on overtype mode press the key from keyboard.

e) gives us information about the current selection of worksheet.

f) Most of our arithmetic operations are performed with

g) key combination is used to paste the cell contents.
h) shortcut keys are used to move to last cell of spreadsheet,
i) The binary number system consists of only two digits - and

j} To use default data click on the cell that contains data and press

keys.
Multiple choice questions. ‘ 5x2=10
a} In Binary multiplication 1 x 0 equals to

1 ' i o ' iii) 2

number system has 8 as its base.

i} Decimal ii) Octal iii} Hexadecimal



4)

c) shows the address of an active cell.

i} Statusbar ii) Row Heading iiif) Name Box
d) Data can be edited in the bar.
i) Title if) Status iii) Formula

e) key combination is used to select entire worksheet.
i) Alt+A ii)Ctrl+ A iii) Shift+ A
Answer the following, _

a) Whatis the function of Clear button in Editing group ?

b} Whatis formulae ?

¢} Write any two rules to add Binary numbers ?

d) Which key is used to remove the moving border after you finish copying ?

e) Write a difference between workbook and worksheet ?

Ex2=10



RAMAKRISHNA VIVEKANANDA MISSION

Annual Examination - 2021
Class - VI

Time : Subject - English Full Marks : 100

Reading Comprehension (Seen)
1. Read the following text and answer the questions given below :

Ceres quickly descended into the land of the dead. But alas! That very day Proserpine had eaten six
pomegranate seeds, and for every one of those seeds she was destined each year to spend a month in
the realm of the dead.

So for six month every year Proserpine would come back to her mother. When she did so, flowers
bloomed, birds sang and the earth smiled to welcome the young queen. But when the time came for
Proserpine to rejoin Pluto in his dark underground kingdom, Ceres would begin to grieve for six moths.
The earth too, would look sad and gloomy. The trees would shed their leaves. The flowers too, would
hide underground, until they heard again the gentle footfall of Proserpine returning to earth.

A.  Write 'T' for True and 'F' for false statements. Give supporting sentences (S.S) for each of your answer:
(2x3=6)

i)  Ceres quickly went down into the land of fairies.

S.S.:

i) The earth was unhappy at the news of Proserpine's return to Pluto's dark underground kingdom.

S.S.:

i) The trees also would hide underground until they heard again the footfall of Proserpine returning to

earth.

S.S.:




VII-English (2)

Fill in the chart with information from the text :

(2x3=6)

Cause

Effect

Proserpine was destined
each year to spend six months
in the realm of the dead.

i) Proserpine would come
back to her mother.

i)

Ceres would begin to grieve
for six months.

Ans :

Ans :

Ans :

Answer the following questions : (2x2=4)
i)  Why was Proserpine bound to live for six months in the underground kingdom?
i)  Why would the trees shed their leaves?
Read the poem and answer the questions that follow :
Give to me the life | love,
Let the lave go by me,
Give the jolly heaven above
And the by way nigh me.
Bed in the bush with stars to see,
Bread | dip in the river —
There's the life for a man like me,
There's the life for ever.
Answer the following question : (2)
i)  Whatkind of a life does the vagabond want?
Find out the words from the poem which mean the following : (1x2=2)

i) Near

i) Stream




VII-English (3)

Reading comprehension (Unseen)
Read the passage carefully and answer the given questions :

Edward Jenner was a great scientist. He found out the vaccine of smallpox. A man who is given the
vaccine was safe from the attack of smallpox. Before the invention of the vaccine, millions of people died
of smallpox all over the world. Nowadays the world is free from this dangerous disease. Napoleon had
great admiration for Dr. Jenner. Once Dr. Jenner requested the emperor to set an English prisoner free.
Napoleon had exclaimed, "Jenner! Ah, we can refuse nothing to that man".

Tick the correct alternative : (1x2=2)

i) A man who gets the vaccine —

a) Will die immediately b) Will never die

c) Will not be attqcked with smallpox d) Will be infected again

i) "The world is free from this dangerous disease". Here the 'disease’ is —

a) measles b) small pox c) chicken pox d) COVID-19

Write 'T' for True and 'F' for false statements in the boxes given on the right-hand side. (1x3=3)

i)  Napoleon said that he cannot grant anything to Edward Jenner.

i) Before the invention of the vaccine, millions of people lost their lives due to smallpox.

i) Edward Jenner had sympathy for an English prisoner.

Answer the following questions : (2x2=4)
i)  Who was Dr. Jenner?

Ans :

i)  What did Dr. Jenner invent?

Ans :
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Radiant Reader
Answer the following questions : (2x6=12)
i)  Why did Gessler have his hat placed on the top of a pole?

Ans :

ii) What punishment did Gessler give to Tell?

Ans :

iii) Why did the people cheer when the shooting was over?

Ans :

iv) Why did Tell keep the second arrow in his quiver?

V) What is meant by saying that "the green field sleeps"?

Ans :

Vi) Why do the cattle not raise their heads while they are grazing?

Ans :

Use the following expressions in sentences : (2x2=4)

i) the best shot :

ii) took careful aim :
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Grammar

5. Join the pair of sentences using infinitives : (1x5=5)

A

i) Ihave ahouse. | wantto letit.

Ans :

i) The beggar had no money. He could not buy food.

Ans :

i) The farmer has gone to market. He will sell vegetables there.

Ans :

iv) Callin a doctor. He will save the man.

Ans :

v) The girl worked hard. She wanted to succed in the examination.

Ans :

Fill in the blanks with suitable forms of modal verbs : (1x6=6)

i) It rain today.

i) One work or starve.

i) They be twins. They look exactly alike.

iv) One not disobey one's teachers.

v) Soma easily workout this sum.

Vi) you be happy.

Complete each of the following sentences supplying a suitable verb in agreement with its subject :
(1x6=6)

i)  Each of the girls rewarded.

i) The meeting a unanimous decision.

i) The clerk and the cashier responsible for the loss.
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iv) Fortune or fame before him.
v) No news bad news.
vi) Milk and Ghee costly nowadays.
D. Fillin the gaps with appropriate present or past participles given in the list. (1x5=5)
[List : rising, wounded, broken, trembling, folded]
i) Hesaton the chair and fell.
i) Helpthe man.
i) She opened the door with hands.
iv) He prayed with hands.
v) We looked at the sun.
E. Change the mode of Narration : (1x5=5)
i)  Rupa said, "The sun rises in the east."
Ans:
i) He said, "l am reading a book".
Ans:
i) The patient said to the doctor, "l am unwell".
Ans:
iv) Soma said to Ruma, "l have passed the exam".
Ans:
v) Tanushree said to Rina, "l shall help Santu."
Ans:
Translate into English : (2x4=8)

) COIR BT AT A ST DI |

Ans :
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i) SR g BiRel Qi e |

Ans :

iii) 95 SIATed Adow T |

Ans :

iv) (=CeT foafoa e cotmfreafer s Sca wie |

Ans :

Writing Skill

Write a paragraph on "Your Aim in Life' or "Your Favourite National Hero' within 100 words. (10)
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8. Write a letter to the Chairman of your Municipality complaining against irregular clearance of garbage in
your locality. (10)
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Subject — Geography
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